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— User
 AEXIO| WP E 2EE
— Machine
« HIZ HAMO| HRE DEHE
— Update_info

+ Coffee_Lamp2} Money_LCD 2iGH|0|E
— Coffee_Lamp

© I Y ROy BA
— Money_LCD

. D}2 gl FhoH

— Tray_LED
« 7{I|E M= & EA| LED ON/OFF

Update_info

Al

Hl

Tray_LAMP

A



Coin

REFUND

U ser Select

Menu

COFFEE

TEA
L

Display
LCD, LED




REFUNDED_by_DELA? user clock<=18
[}

user clock >= 15 && money!=0
refund!
user clock=0

done?

user clock=

coin type:int[0.2]
coin_|nserted[coin_type]!
coln_is(coin_type),

done?
user_clock=0

COIN_INSERT ﬁt"“kzu

done?
user clock=0

U881 8o

REFUND_PRESS

o MENU_PRESS
check_available{button_type)!=false
button type:int[0.1]
button_pushed[button_type]!

user clock=0

done?
user clock=0

user clock==3




mmachine_clock<=3 COFFEE._POURED

REFUND_PRESSED

pouring!

update!
apply balance(-money),
machine clock=0

update!

ecoin_type L

coin_inserted[e]?
apply_balance(coin),
<machine clock=0

update LCD!

é_clock=0 apply balance(-coffee_c)

COFFEE_PUSHED.L,

COIN_INSERTED

machine clock==

a-button_type
button_ pushed[e]?

update!

. machine
machine_clock=0 — 4

e:button_type
e—taa

button pushed[g]?
machine clock=0 ¥

TEA POURED

‘_o pﬂuring‘;_! =
TEA PUSHED
update LCD!

apply balance(-tea_c)




o
L

=

T

OH
=

712 21 FHO|E ot7| 2|t L EOE]
AR SEHO]| ek LCD, LEDO| HE&

update?
@ =€) CHECK_LED
f

1
o update LED!

¥

cHECKED (€) (€) cHECK LcD

update LCD!




COFFEE_LAMP_OFF_INIT

update LED?

money<coffea

money>=coffee ¢
update LED?

G

pouring?

money>=coffee c

update LED?

poured?
money>=coffee c

COFFEE_LAMP_ON

money<coffee ¢
poured?

COFFEE_LAMP_OFF_TEMP




M SSEAO If2F LEDE H§S R &5

money=>=tea c
update LED?

update LED?
money>=tea_c

pouring?
TEA LAMP_OFF_INIT TEA LAMP_OFF_TEMP
|
money<tea c poured?
update LED? money>=tea_c
TEA LAMP_ON
s J

money<tea_c
poured?




M7t LILe 52t d&kls @HEE BN

pouring?
delay=0

pouring!

1 ) tray LED ON

tray LED OFF (@I )
delay<=6

finished!

g poured!




ot LCDS B¢

money=0
update LCD?
money=0
balance 0 WP update LCD?
money==0

update LCD?




Verificatio

1) 2= A0 deadlock BtAMB}X| Q=L

2) L= Z 20 X|Cf Zted2 50009 O|3}Lt.

3) 2= B0 x| THZ 0H O] ¢O|Lt.

4) Ttoo| 200 0|&t0|H TEAZ} LI X| =L},
ZHoHo| 300 0|8}0|™ COFFEE7} LIQX| Qb=Ct.

5) gtet MES F2H 32 O[Uof 3TO| L=L

6) Hl+ HEL 2= HEZS SA0 2| B=C

/) W77t LIRE 52 STF 0] 24| E’Jt

8) COFFEE EHE% TEH 10z OJLHof AHm| 7} Lt %Er.

9) TEA HHES H+20 10 O|Ljof| TEAZ} LE2LF.

10) 2t=0| £ %ﬁEIE S AHU|et Xt HE2 =X W=




Werifier

=1}



A[] not deadlock

2) BE Z20] 2of A2 50008 0| StC}

A[] money <= 5000
3) = 4F0 =[x T2 0
A[] money >=0
0| 200 O|S|O|™ TEAZ} LI X| =L}

LS =
40| 300 O|5tO|H COFFEEZ} LI K| B5=Cf.

g S=27F L HH S8 ¢f2F TR0l S0 =L




6) O+ HeEt 22 HE2 SA0| =2lX| BE=C

A[] not (UserMENU_PRESS and User.REFUND_PRESS)

7) W7t e 52 TR RO Z2ASHA| &=L

A[] (Coffee_Lamp.COFFEE_LAMP_OFF_TEMP or
Tea_Lamp.TEA_LAMP_OFF_TEMP) imply not User.COIN_INSERT

8) COFFEE HHEZ +E2& 10= O|L{of| Hm|7} Lt=2CF
A[] Machine.COFFEE_POURED imply User.user_clock <=10

9) TEAHEZ 2™ 10=x O|L{0f TEAZ} LE2LCF.

A[] Machine.TEA_POURED imply User.user_clock <=10

10) 2t=0| L= S Aot Xt HE2 =2l E=C

A[] (Machine.COFFEE_PUSHED or Machine.TEA_PUSHED) imply not
User.REFUND_PRESS




